Priva Pod Installation Guide
Effective July 2025 USA

OrIVa

INSTALLATION MANUAL




PRIVA INSTALLATION GUIDE

TABLE OF CONTENTS

Wall with Shelf page 3
Base Unit page 4
Ceiling Unit page 4
Flat Metal Frames page 5
Glass Panels page b
Unit Assembly page 6
Back Metal Frame Assembly ) page 7
Back Glass Assembly e page 7
POD Assembly page 8
Front Glass + Door Assembly o page 9

CORRECT PRODUCT HANDLING TIPS

® Handle all of the furniture with care.

e | ift panels completely off the ground when carrying; dragging may
cause damage.

o Always protect walls and/or panels when leaning them.

o Always stand panels (right side up).

 Ensure panels and carts are adequately protected during off-loads.

® Watch for the sharp ends of staples when remaving the packaging
from around panels.

PARTS LIST

FS201 (x16) - Self tapping screw for corner assem-
blies

FS202 (x30) - Self tapping screw for flat frame assembly

FS205 (x10) - Black M6 screw for flat frame (door side) as-
sembly

FS206 (x2) - Door magnets set

FS211 (x15) - 30mm long screws to be used for POD1G

U
FS211 (x15) - 40mm long screws to be used for POD1L
INSTALLATION DETAILS

Close up screw and washer detail.

O
)

REQUIRED TOOLS

Safety Glasses

Rubber Mallet

Power Drill (var speed, rev)
Magnetic drill bit holders
1/4" Nut-driver

5/16" Nut-driver

3/8" Nut-driver

Stand-Off Cap Key (included)

Additional items you may find useful:

#2 Phillips screwdriver
#3 Phillips screwdriver
1/2" wrench

9/16" wrench
Adjustable 8" wrench
Needlenose pliers

Door Hinges (x2)

0

Door Handle (x1)

#2 Robertson Screwdriver

#3 Robertson Screwdriver
Large 1/4" Blade Screwdriver
3/16" Diameter Punch

Utility Knife

Level

Tape Measure

Gloves

Large Channel lock pliers
Finetooth saw (hacksaw)
General purpose prybar
Frame dolly

Two wheel cart

Furniture cart with straps

ST 231 - Optional
seismic brackets to
floor mount

Q Stand-Off Cap Key
’ \‘ (supplied)
\/

How to use cap key. Point at end of curved end locks into

hole on side to washer.

globalfurnituregroup.com



PRIVA INSTALLATION GUIDE

Wall with Shelf

1. Holes for corner assembly.

2. Holes for metal frame and glass/door assembly.

3. Cut-outs for wiring.
4. Cut-out for shelf.

Wall with Shelf

1. Holes for corner assembly.

2. Holes for metal frame and glass/door assembly.
3. Cut-outs for wiring.

4. Airflow grill.

o—

o—

®wRewo

Outside View

Outside View

globalfurnituregroup.com



PRIVA INSTALLATION GUIDE

Base Unit

1. Holes for corner assembly.
2. Holes for metal frame and glass/door assembly.
3. Cut-outs for wiring.
4. Casters with leveler.
5. Cut-outs for seismic bracket.
(brackets not included)
6. Floor access panel.

Ceiling Unit (KI-CL-03)

As delivered

Floor Access
Panel Removed

1. Holes for corner assembly.

2. Holes for metal frame and glass/door assembly. As delivered

3. Cut-outs for wiring.

4. Roof access panel.

5. Cut-outs for fans.

6. Knock out hole for sprinkler (optional)
Roof Access
Panel Removed

4

globalfurnituregroup.com



PRIVA INSTALLATION GUIDE

Flat Metal Frames

ST221 - Metal frame (1 on front, 2 on back), with self-tapping screws (FS201 x8) per piece.
This part has 5 holes for glass assembly.

ST222 - Metal frame (1 on front, 2 on back), with self-tapping screws (FS201 x8) per piece
ST223 - Metal frame (2 on back) with M6 screws (FS205 x10)
ST224 - Metal frame (1 on front) with M6 screws (FS205 x10) ?\

All parts have plastic gaskets on the edges.

!
¥

Glass Panels

GL201 - Sidelight glass panel has 5 holes for assembly by M10 countersunk screw F8211 with
plastic socket cap F8204 and 2 pairs of holes for door hinge assembly.

GL202 - Door glass panel has 2 pairs of holes for door hinges, a pair of holes for handles, and 3 ° °

holes for magnets. ° /

GL203 - Back glass panel has 10 holes for assembly by M10 countersunk screw FS211 with
plastic socket cap FS204. N

ss

Note: For laminate back, use screw FS211 - 40mm (longer). ° ¢

globalfurnituregroup.com 5



PRIVA INSTALLATION GUIDE

Unit Assembly (On Floor)

Note: Place a large blanket or soft material under the panels before beginning work to prevent
scratches and damage to the unit.

Ensure a minimum of 48" area is left clear behind the unit to allow the unit to be stood up

FS201 screws x4
for each corner.

Unit Assembly (On Floor)

Note: Place a large blanket or soft material under the panels before beginning work to prevent
scratches and damage to the unit. S Floor access panel removed.

Ensure a minimum of 48" area is left clear behind the unit to allow the unit to be stood up

Wall Unit.

FS201 screws x4
for each corner.

Roof access panel removed.

6 globalfurnituregroup.com



PRIVA INSTALLATION GUIDE

Back Metal Frame Assembly

= $T222
l
2 Self-tapping
; \ \;\> screws
< FS202 x20
SN :
Self-tapping screws \‘-‘
FS202 x20 g S

D

'[fa 5
ST222 QL \ s

B XNs”

)

Screws FS211
x10 with
plastic sleeves

Screws FS211
x10 with
plastic sleeves

globalfurnituregroup.com 7



PRIVA INSTALLATION GUIDE

POD Assembly (Raised vertically)

Ensure levelers have been retracted so that wheels are exposed. This will allow the unit to be

rolled into its final location. Then level the unit.
A.) Engage gear on the small handle by pushing inward

B.) Move handle repeatedly back and forth (left to right) until the leveler is raised and only the

caster is touching the surface.

e Disengage gear and repeat to drop the leveler in to place once the booth is in its final position

Wire Connection

STEP 1: Fish wire from top of panel and connect to fans.
STEP 2: Fish Power Plug from bottom of side panel through
bottom panel to the floor.

Front Metal Frame Assembly

4

Self-tapping screws
FS202 x10

ACETTEN

Self-tapping screws

FS202 x10 ————»

M6 screws
FS205x10

M6 screws
— FS205x10

ST223

M6 screws
FS205x10

globalfurnituregroup.com



PRIVA INSTALLATION GUIDE

Front Glass Panel and Door Assembly

Screws FS211 x5 with
plastic sleeves

® GL201

Door handle

Hinges x2 Gm
Screws FS211 x5 with =~
plastic sleeves

| ¢——— - Magnets x3
GL202

Cross connect wires
and install ceiling

\/

o

Front Glass Panel and Door Assembly

Pressure fit the shelf into the cut-out slot.

Install shelf

- g
Eeao\

Install Floor

globalfurnituregroup.com 9



Global US Headquarters/Distribution Center
17 West Stow Road, P.O. Box 562
Marlton, New Jersey U.S.A. 08053

T (856) 596-3390
T (800) 220-1900

Showrooms

Atlanta

10 10th Street
Suite 150

Atlanta, GA 30309
T (404) 879-0998

Boston

One Harbor Street
Suite 104

Boston, MA 02210
T (617) 406-5435

Chicago

222 Merchandise
Mart Plaza

10th Floor, Suite 1035
Chicago, IL 60654

T (312) 755-0843

Irvine

18400 Von Karman Ave.

Suite 100
Irvine, CA 92618

Miami

112 NE 41st Street
6th floor

Miami, FL 33137

global

New York City

386 Park Avenue South
7th floor

New York, NY 10016

T (212) 545-9900

Philadelphia

1735 Market Street
38th Floor
Philadelphia PA, 19103
T (215) 861-0963

New Jersey (Southern)
119 West Greentree Road
Marlton, NJ 08053

T (856) 596-3390

Phoenix

4675 E Cotton Center Blvd.

Suite 165
Phoenix, AZ 85040
T (602) 426-0666
T (602) 426-0777

Washington, DC

1130 Connecticut Avenue
10th Floor, Suite 1000
Washington, DC 20036

T (202) 659-0230

T (202) 659-0236

Distribution Centers

Atlanta Area
6715 Maple Ave.
Suite 100

Buford, GA 30518
T (678) 602-4130

Baltimore Area
Troy Hill

Corporate Center
7030 Troy Hill Drive
Elkridge, MD 21075
T (410) 379-8021

Chicago Area
27W501 North Ave.
Suite 300

West Chicago, IL 60185
T (630) 681-2818

Cincinnati Area
8712 LeSaint Drive
Fairfield, OH 45014
T (513) 777-0009

globalfurnituregroup.com

Dallas Area

2025 West Beltline Road
#100

Carrollton, TX 75006

T (972) 236-1366

Denver Area
19080 E. 38th Ave.
Unit # 30

Aurora, CO 80011
T (303) 340-1617

Ft. Lauderdale Area
560 Sawgrass
Corporate Pkwy
Sunrise, FL 33325

T (954) 846-8888

Houston Area

7865 Northcourt Road
Suite 200

Houston, TX 77040

T (713) 695-5777

Los Angeles Area

3629 Workman Mill Road
Whittier, CA 90601

T (562) 484-9686

Seattle Area

Oakesdale Commerce Ctr.
820 Southwest 34th Street
Building W7, Suite A
Renton, WA 98057

T (425) 291-9282

Kansas City Area
11617 West 81st Street
Lenexa, KS 66214

T (913) 310-9963

Tampa Area

10351 Windhorst Road
Tampa, FL 33619

T (813) 621-6272

@8] flin



